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OFHZ HYY HEANE B3
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OlAI&HI] 672,000
ONSSANE BHEA - FSHY|
672,000,000 * 14} 672,000




SN
X XH .
S Tt

el

Pk’
MRS

MeHAIZAIE SHSHALY

_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
03 Al& =l 4,234 3,780 454
ONS5LAIE A&
672,000,008 * 0.63% 4,234
BUNF BHE U R 27,099 32,360 15,261
201 ety 9,099 12,360 £3,261
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OAIB52AE =X
190,000,008 * 14! 190,000
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OSIY22Q12 33,0008 » 3508 107 1,235,850
=2 1,035,850
= 200,000
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OmESH L 2bAIH  3,0008 * 35091 * 852 89,250
= 89,250
201 Lere | 42,935 0 42,935
= 42,935
01 AFR22/H| 35,935 0 35,935
OBESFAS HAXY BBZAEN2S
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OYASs - g - ZAH
20,000& = 121 = 30 = 34 1,800
= 1,800
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01 Zoi3 54,000 0 54,000
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